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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Trend plot forP3-8 0
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=it 3892.0 (14:%) 2100.0 32803 KEC: 2080.0, PH: 5.8
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#H[EKECE (2393.0 vs 5210.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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P3-8

BjiE) | GEBIETIC (F)) | EHME (BAH/K) | XS ERE

07:05 278 150.0 & ’Ri%@07:05 Bzh (kRAERESE)
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15:50 278 150. 0 Bl Fi7015:50 BEh (RE{EREE)
24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

#H[EKRECE (2370.0 vs 4783.0) i d5
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P3-8_0, Day=58 (2025-05-26)
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P3-8

BrE) | GEBRTK (FD) | ERE (EAH/K) (KR IR

07:05 278 150. 0 | {Rie07:05 Ba CGREHERSE)
07:45 278 150.0 5| {RiRe07:45 Bz (GREERESE)
08:40 278 150. 0 | 1Ri%e08:40 B (RFAERER)
09:25 278 150.0 & 1BRi%009:25 Bz (kAERE)
10:05 278 150. 0 5| 1Ri%010:05 BE1 (REERER)
10:45 278 150. 0 5| 1Ri%e10:45 B CGREMEREE)
11:25 278 150.0 | 1BRike11:25 Bz (RAERE)
12:05 278 150.0 5| 1Ri%e12:05 B (REEREE)
12:45 278 150. 0 5| 1Ri%e12:45 B GREEREE)
13:25 278 150. 0 5| {RiRe13:25 Ba (REERESE)
14:05 278 150.0 5| Rige14:05 B (GREfRREEE)
14:45 278 150.0 S| Ri%e14:45 B GRS
15:30 278 150.0 5| {Ri%e15:30 B CGREMERER)
16:25 278 150.0 5| 1Ri%e16:25 B (REEREE)
=it 3892.0 (14)%) 2100.0 #233HKEC: 2080.0, PH: 6.0

#HEKRECE (2323.0 vs 4507.0) 35




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-8_0, Day=57 (2025-05-25)
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Warning: lcol ['PHB’,| 'PHC’'] missing
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